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1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 NS: FaaBl M (BH0) 0 5 NS: Z30&E SBEER(BAC) -13 VP:| 11.50 : 8.50 | Total VP: 11.50 Rank:
EW: BEHESE & EI0) 13 EW: FEE FE#E(B0) 0 IMP:| 25 21 8
_—
#1 a7 3NS3 400 Mean: 6DNG6 920 7.0 8 |[[|#2 s K8 4HN4 620 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 920 630  6CN6 920 7.0 2 v AJ3 5HS-1-100 250  4HN4 620 9.0 3
+ AJ63 Dif: -520 NS:-6 5DNG6 420 50 3 + 964 Dif: 720 NS:9 3HS4 170 2.0 1
» KJ92 IMP: -11 EW:-7 3NS3 400 6.0 2 & A9753 IMP: 12 EW:8 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 » 43 3HS3 140 3.0 2
v T852 v 76 7TNXS-1 100 -12.0 1 ||w 942 I v T5 2883 140 3.0 1
¢ 42 ¢ T75 4NS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®IVAON 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 -630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NE3 -600 Mean: 6HW-3 300 13.0 1
v AQ 3NW4 -630 -550 3NW4 630 -20 8 v 7432 3NE3 -600 -520 6DE-1 100 120 1
732 Dif: 0 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: 0 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 & AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 % ¢ VAN 4, AQBT2
N ~~~~~ v J9842 N ~~~~~ v T86
S§ ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55~~3
#5 4 AT83 3NE3 -400 Mean: 3NW-2 100 50 1||#6 & A952 3NN3 400 Mean: 3NS3 400 70 1
vT9 3NE3 -400 -110  3NE-2 100 50 1 v AK6 3NN3 400 130  3NN4 430 7.0 1
« KJ863 Dif: 0 NS:-7 3NW-1 50 40 2 + Q86 Dif: 0 NS:7 3NN3 400 7.0 5
» K9 IMP: 0 EW:7 3NE-1 50 40 4 » QT9 IMP: 0 EW:-7 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v Q854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 620 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 940 Mean: 7DS7 1440 9.0 4
v AQ96532 5HN-2 -200 250  4HN5 650 9.0 1 v6 6DS7 940 1070  7DN7 1440 9.0 1
¢+ AK Dif: 820 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
9 IMP: 13 EW:10 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 3NN5 460 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 150 Mean: 3NN7 720 9.0 1
v A3 4SN5 450 440  5SS5 450 0.0 1 v AK93 3NS3 600 350 3NS5 660 7.0 1
¢ 874 Dif: 10 NS:1  5SN5 450 00 1 + K Dif: -450 NS:-5 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: -10 EW:-6 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 »Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
2 NS: B&ST TTIRGHO) 66 1 2 NS: Elzk = EEBIE(BAC) -41 VP:| 20.00 : 0.00 | Total VP: 20.00 Rank:
EW: BE#ES BEESFEAC) 43 EW: EE & 15%{%(BAO) -6| IMP:| 93 4 1
_—
#1 a7 6DN6 920 Mean: 6DNG6 920 7.0 8 |[#2 » K8 2HS4 170 Mean: 4HS4 620 9.0 4
v AKQJ 4NS-1-50 630 6CN6 920 7.0 2 v AJ3 4HS-1-100 250  4HN4 620 9.0 3
+ AJ63 Dif: 970 NS:7 5DN6 420 50 3 + 964 Dif: 270 NS:-2 3HS4 170 2.0 1
» KJ92 IMP: 14 EW:12 3NS3 400 6.0 2 & A9753 IMP: 7 EW:8 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7TNXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®IVAON 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 2SXN2 470 Mean: 2SXN2 470 140 1 ||# 4 » 963 6HW-3 300 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 -600 -550 3NW4 630 -20 8 v 7432 5DW5 -600 -520  6DE-1 100 120 1
732 Dif: 1070 NS:14 3NW3 600 -20 8 * K9 Dif: 900 NS:13 5DW5 600 -20 6
& T8 IMP: 14 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 14 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 & AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 3NE-150 Mean: 3NW-2 100 50 1 #6 & A952 3NN3 400 Mean: 3NS3 400 70 1
vT9 3NE3 -400 -110  3NE-2 100 50 1 v AK6 3NN-1-50 130  3NN4 430 7.0 1
+» KJ863 Dif: 450 NS:4 3NW-1 50 40 2 + Q86 Dif: 450 NS:7 3NN3 400 7.0 5
» K9 IMP: 10 EW:7 3NE-1 50 40 4 » QT9 IMP: 10 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 620 Mean: 4HS4 620 9.0 1 ||#38 aJ 7DS7 1440 Mean: 7DS7 1440 9.0 4
v AQ96532 5HN-2 -200 250  4HN5 650 9.0 1 v6 6DS7 940 1070 7DN7 1440 9.0 1
¢+ AK Dif: 820 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: 500 NS:9 6DS7 940 40 12
&9 IMP: 13 EW:10 3NS4 630 9.0 1 & AK6532 IMP: 11 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 5DS5 400 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NS3 600 Mean: 3NN7 720 9.0 1
v A3 4SS5450 440 5SS5 450 0.0 1 v AK93 3NN5 660 350 3NS5 660 7.0 1
¢ 874 Dif: -50 NS:-1 5SN5 450 00 1 + K Dif: -60 NS:6 3NS4 630 7.0 1
» KJ96 IMP: -2 EW:0 4SS5 450 00 5 & AT9872 IMP: -2 EW:-7 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~
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#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
3 NS: B BEHR$E(BHO) -16 4 NS: it 8 RigT(BAC) 18 VP:| 3.22 : 16.78| Total VP: 3.22 Rank:
EW: B2 BaEEEIC) -18 EW: EZEH 3L75IE(BAO) 16 IMP:| 14 38 16
_—
#1 a7 6DN6 920 Mean: 6DN6 920 7.0 8 |[#2 » K8 3HS3 140 Mean: 4HS4 620 9.0 4
v AKQJ 6CN6 920 630 6CN6 920 7.0 2 v AJ3 4HS4 620 250 4HN4 620 9.0 3
+ AJ63 Dif: 0 NS:7 5DN6 420 50 3 + 964 Dif: -480 NS:-3 3HS4 170 2.0 1
» KJ92 IMP: 0 EW:-7 3NS3 400 6.0 2 & A9753 IMP: -10 EW:-9 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®IVAON 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 -630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NW5 -660 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 -600 -550 3NW4 630 -20 8 v 7432 5DW5 -600 -520  6DE-1 100 120 1
732 Dif: -30 NS:-2 3NW3 600 -20 8 * K9 Dif: -60 NS:-4 5DW5 600 -20 6
& T8 IMP: -1 EW:2 3NE5 660 -3.0 1 & JT42 IMP: -2 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJB4 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 1SN-1-100 Mean: 3NW-2 100 50 1 #6 & A952 3NN-1-50 Mean: 3NS3 400 70 1
vT9 1NE2 -120 -110  3NE-2 100 50 1 v AK6 3NN-2-100 130  3NN4 430 7.0 1
+» KJ863 Dif: 20 NS:0 3NW-1 50 40 2 + Q86 Dif: 50 NS:-5 3NN3 400 7.0 5
» K9 IMP: 1 EW:0 3NE-1 50 40 4 » QT9 IMP: 2 EW:6 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN-1 -100 Mean: 4HS4 620 9.0 1 ||#38 aJ 7DN7 1440 Mean: 7DS7 1440 9.0 4
v AQ96532 4HS4 620 250  4HN5 650 9.0 1 v6 6DS7 940 1070 7DN7 1440 9.0 1
¢+ AK Dif: -720 NS:-8 4HN4 620 9.0 6 + AQJ94 Dif: 500 NS:9 6DS7 940 40 12
&9 IMP: -12 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: 11 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 58S5 450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NS-1-100 Mean: 3NN7 720 9.0 1
v A3 4SS5450 440 5SS5 450 0.0 1 v AK93 3NN5 660 350 3NS5 660 7.0 1
¢ 874 Dif: 0 NS:0 5SN5 450 00 1 + K Dif: -760 NS:-10 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: -13 EW:-7 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~
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1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
4 NS: #4858 ZiTEEC) 18 3 NS: E¥3038 PEIREE(BAO) -16 VP:| 16.78 : 3.22 Total VP: 16.78 Rank:
EW: E&H 2k J51EEH0) 16 EW: BB\ EiE & (BAC) 1 IMP:| 38 14 2
_—
#1 a7 6DN6 -920 Mean: 6DN6 920 70 8 [|#2 » K8 3HS3 -140 Mean: 4HS4 620 9.0 4
v AKQJ 6CN6 -920 630  6CN6 920 7.0 2 v AJ3 4HS4 -620 250  4HN4 620 9.0 3
+ AJ63 Dif: 0 NS:7 5DN6 420 50 3 + 964 Dif: 480 NS:9 3HS4 170 2.0 1
» KJ92 IMP: 0 EW:-7 3NS3 400 6.0 2 & A9753 IMP: 10 EW:3 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NW5 660 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 600 -550 3NW4 630 -20 8 v 7432 5DW5 600 -520 6DE-1 100 120 1
732 Dif: 30 NS:-2 3NW3 600 -20 8 * K9 Dif: 60 NS:-2 5DW5 600 -20 6
& T8 IMP: 1 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 2 EW:4 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 1SN-1 100 Mean: 3NW-2 100 50 1||#6 & A952 3NN-1 50 Mean: 3NS3 400 70 1
vT9 1NE2 120 -110  3NE-2 100 50 1 v AK6 3NN-2 100 130  3NN4 430 7.0 1
+» KJ863 Dif: -20 NS:0 3NW-1 50 40 2 + Q86 Dif: -50 NS:-6 3NN3 400 7.0 5
» K9 IMP: -1 EW:0 3NE-1 50 40 4 » QT9 IMP: -2 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN-1 100 Mean: 4HS4 620 9.0 1 ||#38 aJ 7DN7 -1440 Mean: 7DS7 1440 9.0 4
v AQ96532 4HS4 -620 250  4HN5 650 9.0 1 v6 6DS7 -940 1070  7DN7 1440 9.0 1
¢+ AK Dif: 720 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: -500 NS:-4 6DS7 940 40 12
&9 IMP: 12 EW:8 3NS4 630 9.0 1 & AK6532 IMP: -11 EW:-9 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 58S5 -450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NS-1 100 Mean: 3NN7 720 9.0 1
v A3 4SS5 -450 440  5SS5 450 0.0 1 v AK93 3NN5-660 350 3NS5 660 7.0 1
¢ 874 Dif: 0 NS:0 5SN5 450 00 1 + K Dif: 760 NS:7 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: 13 EW:10 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113&;«1}_@214%%%% w ==> Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
5 NS: G308 SEFRERC) -13 1 NS: %EH HEIEBI0) 0 VP:| 850 : 11.50| Total VP: 8.50 Rank:
EW: 2R FEEI0) 0 EW: [REF FiHE(BAC) 13 IMP:| 21 25 10
_—
#1 a7 3NS3 -400 Mean: 6DN6 920 7.0 8 |[[|#2 s K8 4HN4 -620 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 -920 630  6CN6 920 7.0 2 v AJ3 5HS-1100 250  4HN4 620 9.0 3
+ AJ63 Dif: 520 NS:7 5DN6 420 50 3 + 964 Dif: -720 NS:-8 3HS4 170 2.0 1
» KJ92 IMP: 11 EW:6 3NS3 400 6.0 2 & A9753 IMP: -12 EW:-9 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7TNXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4NS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®IVAON 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NE3 600 Mean: 6HW-3 300 13.0 1
v AQ 3NW4 630 -550 3NW4 630 -20 8 v 7432 3NE3 600 -520 6DE-1 100 120 1
732 Dif: 0 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: 0 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 & AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 3NE3 400 Mean: 3NW-2 100 50 1 #6 & A952 3NN3 -400 Mean: 3NS3 400 70 1
vT9 3NE3 400 -110  3NE-2 100 50 1 v AK6 3NN3 -400 130  3NN4 430 7.0 1
« KJ863 Dif: 0 NS:-7 3NW-1 50 40 2 + Q86 Dif: 0 NS:7 3NN3 400 7.0 5
» K9 IMP: 0 EW:7 3NE-1 50 40 4 » QT9 IMP: 0 EW:-7 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 -620 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 -940 Mean: 7DS7 1440 9.0 4
v AQ96532 5HN-2 200 250  4HN5 650 9.0 1 v6 6DS7 -940 1070  7DN7 1440 9.0 1
¢+ AK Dif: -820 NS:-10 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
9 IMP: -13 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 3NN5 -460 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 -150 Mean: 3NN7 720 9.0 1
v A3 4SN5 -450 440  5SS5 450 0.0 1 v AK93 3NS3 -600 350 3NS5 660 7.0 1
¢ 874 Dif: 10 NS:0 5SN5 450 00 1 + K Dif: 450 NS:6 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:-1 4SS5 450 00 5 & AT9872 IMP: 10 EW:5 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 & 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
6 NS: E=5 BREEH(3HO) -30 9 NS: R<FR $B8R/(BAC) 1 VP:| 3.22 : 16.78| Total VP: 3.22 Rank:
EW: BEEE: 1221 EAC) -1 EW: &iil55 BRiEF%(BO) 30 IMP:| 7 31 16
I _—
#1 a7 7NXS-1 -100 Mean: 6DN6 920 7.0 8 |[#2 » K8 2SS3 140 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 920 630  6CN6 920 7.0 2 v AJ3 3HS4170 250  4HN4 620 9.0 3
+ AJ63 Dif: -1020 NS:-12 5DN6 420 50 3 + 964 Dif: -30 NS:-3 3HS4 170 2.0 1
» KJ92 IMP: -14 EW:-7 3NS3 400 6.0 2 & A9753 IMP: -1 EW:2 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 -630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NW6 -690 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 -600 -550 3NW4 630 -20 8 v 7432 3NW3 -600 -520 6DE-1 100 120 1
732 Dif: -30 NS:-2 3NW3 600 -20 8 * K9 Dif: -90 NS:-5 5DW5 600 -20 6
& T8 IMP: -1 EW:2 3NE5 660 -3.0 1 & JT42 IMP: -3 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 % ¢ VAN 4, AQBT2
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJB4 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55~~3
#5 4 AT83 1NE1 -90 Mean: 3NW-2 100 50 1 #6 & A952 3NN-1-50 Mean: 3NS3 400 70 1
vT9 3NE3 -400 -110  3NE-2 100 50 1 v AK6 3NN-1-50 130  3NN4 430 7.0 1
+» KJ863 Dif: 310 NS:1  3NW-1 50 40 2 + Q86 Dif: 0 NS:-5 3NN3 400 7.0 5
» K9 IMP: 7 EW:7 3NE-1 50 40 4 » QT9 IMP: 0 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 620 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 940 Mean: 7DS7 1440 9.0 4
v AQ96532 3NS4 630 250  4HN5 650 9.0 1 v6 6DS7 940 1070 7DN7 1440 9.0 1
¢+ AK Dif: 10 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
&9 IMP: 0 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 3NN5 460 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NS-1-100 Mean: 3NN7 720 9.0 1
v A3 4SN5450 440 5SS5 450 0.0 1 v AK93 3NS4 630 350 3NS5 660 7.0 1
¢ 874 Dif: 10 NS:1  5SN5 450 00 1 + K Dif: -730 NS:-10 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: -12 EW:-7 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
7 NS: H{&{& EEGRGEO) -5 1 8 NS: &4 BREAFI(BAC) 4 VP:| 8.15 11.85| Total VP: 8.15 Rank:
EW: A £5975RBAC) 4 EW: &34 It E(BAO) 5 IMP:| 17 22 12
I —
#1 a7 5DN6 420 Mean: 6DN6 920 70 8 [|#2 » K8 5HS-1-100 Mean: 4HS4 620 9.0 4
v AKQJ 3NS3400 630 6CN6 920 7.0 2 v AJ3 4SXS-1-200 250 4HN4 620 9.0 3
+ AJ63 Dif: 20 NS:-5 5DN6 420 50 3 + 964 Dif: 100 NS:-8 3HS4 170 2.0 1
» KJ92 IMP: 1 EW:6 3NS3 400 6.0 2 & A9753 IMP: 3 EW:10 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW3 -600 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NW3 -600 Mean: 6HW-3 300 13.0 1
v AQ 3NW4 -630 -550 3NW4 630 -20 8 v 7432 5DW5 -600 -520  6DE-1 100 120 1
732 Dif: 30 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: 1 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 3NE-2 100 Mean: 3NW-2 100 50 1||#6 & A952 3NS3 400 Mean: 3NS3 400 70 1
vT9 3NE-150 -110  3NE-2 100 50 1 v AK6 3NN-1-50 130  3NN4 430 7.0 1
+» KJ863 Dif: 50 NS:5 3NW-1 50 40 2 + Q86 Dif: 450 NS:7 3NN3 400 7.0 5
» K9 IMP: 2 EW:-4 3NE-1 50 40 4 » QT9 IMP: 10 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 620 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 940 Mean: 7DS7 1440 9.0 4
v AQ96532 4HN4 620 250  4HN5 650 9.0 1 v6 7DS7 1440 1070  7DN7 1440 9.0 1
¢+ AK Dif: 0 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: -500 NS:-4 6DS7 940 40 12
&9 IMP: 0 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: -11 EW:-9 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 4SN5 450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 150 Mean: 3NN7 720 9.0 1
v A3 4SS5450 440 5SS5 450 0.0 1 v AK93 3NN5 660 350 3NS5 660 7.0 1
¢ 874 Dif: 0 NS:0 5SN5 450 00 1 + K Dif: -510 NS:-5 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: -11 EW:-7 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
8 NS: PREME SR GHO) -10 1 5 NS: BREEZ T H(BAC) 10 VP:| 5.46 14.54| Total VP: 5.46 Rank:
EW: P38 ©£3222FAC) -10 EW: 2835 FiEiH(BAO) 10 IMP:| 21 35 14
_—
#1 a7 6DN6 920 Mean: 6DN6 920 70 8 [|#2 » K8 3NN-1-100 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 920 630  6CN6 920 7.0 2 v AJ3 4HS4 620 250 4HN4 620 9.0 3
+ AJ63 Dif: 0 NS:7 5DN6 420 50 3 + 964 Dif: -720 NS:-8 3HS4 170 2.0 1
» KJ92 IMP: 0 EW:-7 3NS3 400 6.0 2 & A9753 IMP: -12 EW:-9 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 -630 Mean: 2SXN2 470 140 1 ||# 4 » 963 5DW5 -600 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 -600 -550 3NW4 630 -20 8 v 7432 3NW3 -600 -520 6DE-1 100 120 1
732 Dif: -30 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: -1 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 3NW-2 100 Mean: 3NW-2 100 50 1||#6 & A952 3NN3 400 Mean: 3NS3 400 70 1
vT9 3NW3 -400 -110  3NE-2 100 50 1 v AK6 3NN-1-50 130  3NN4 430 7.0 1
+» KJ863 Dif: 500 NS:5 3NW-1 50 40 2 + Q86 Dif: 450 NS:7 3NN3 400 7.0 5
» K9 IMP: 11 EW:7 3NE-1 50 40 4 » QT9 IMP: 10 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN-1 -100 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 940 Mean: 7DS7 1440 9.0 4
v AQ96532 4HN-1-100 250  4HN5 650 9.0 1 v6 7DS7 1440 1070  7DN7 1440 9.0 1
¢+ AK Dif: 0 NS:-8 4HN4 620 9.0 6 + AQJ94 Dif: -500 NS:-4 6DS7 940 40 12
&9 IMP: 0 EW:8 3NS4 630 9.0 1 & AK6532 IMP: -11 EW:-9 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 5SN5 450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 150 Mean: 3NN7 720 9.0 1
v A3 4SS5450 440 5SS5 450 0.0 1 v AK93 3NN7 720 350 3NS5 660 7.0 1
¢ 874 Dif: 0 NS:0 5SN5 450 00 1 + K Dif: -570 NS:-5 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: -11 EW:-9 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
9 NS: BE5F R BEREIC) 1 6 NS: Einit BRiZE(BJO) -3 VP:| 16.78 : 3.22 Total VP: 16.78 Rank:
EW: 815055 B EH0) 30 EW: EEER E#&IEEAC) 1 IMP:| 31 7 2
_— _—
#1 a7 7NXS-1 100 Mean: 6DN6 920 70 8 [|#2 » K8 2SS3 -140 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 -920 630  6CN6 920 7.0 2 v AJ3 3HS4 170 250  4HN4 620 9.0 3
+ AJ63 Dif: 1020 NS:7 5DN6 420 50 3 + 964 Dif: 30 NS:-2 3HS4 170 2.0 1
» KJ92 IMP: 14 EW:12 3NS3 400 6.0 2 & A9753 IMP: 1 EW:3 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NW6 690 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 600 -550 3NW4 630 -20 8 v 7432 3NW3 600 -520 6DE-1 100 120 1
732 Dif: 30 NS:-2 3NW3 600 -20 8 * K9 Dif: 90 NS:-2 5DW5 600 -20 6
& T8 IMP: 1 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 3 EW:5 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 1NE1 90 Mean: 3NW-2 100 50 1||#6 & A952 3NN-1 50 Mean: 3NS3 400 70 1
vT9 3NE3 400 -110  3NE-2 100 50 1 v AK6 3NN-150 130 3NN4 430 7.0 1
+» KJ863 Dif: -310 NS:-7  3NW-1 50 40 2 + Q86 Dif: 0 NS:-5 3NN3 400 7.0 5
» K9 IMP: -7 EW:-1  3NE-1 50 40 4 » QT9 IMP: 0 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 -620 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 -940 Mean: 7DS7 1440 9.0 4
v AQ96532 3NS4 -630 250  4HN5 650 9.0 1 v6 6DS7 -940 1070  7DN7 1440 9.0 1
¢+ AK Dif: 10 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
&9 IMP: 0 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 3NN5 -460 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NS-1 100 Mean: 3NN7 720 9.0 1
v A3 4SN5 -450 440  5SS5 450 0.0 1 v AK93 3NS4 -630 350 3NS5 660 7.0 1
¢ 874 Dif: 10 NS:0 5SN5 450 00 1 + K Dif: 730 NS:7 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:-1 4SS5 450 00 5 & AT9872 IMP: 12 EW:10 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 O NS: E3¥K ZEREIR(BHO) -6 1 3 NS: FF{_E #3ZE(BAC) 19 VP:| 495 : 15.05| Total VP: 4.95 Rank:
EW: 13{EH Frg=EAC) -19 EW: ffiz{h BE(FO0) 6 IMP:| 19 35 15
I _—
#1 a7 5DN6 420 Mean: 6DN6 920 7.0 8 |[[|#2 s K8 4HS4 620 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 920 630  6CN6 920 7.0 2 v AJ3 4HS4 620 250 4HN4 620 9.0 3
+ AJ63 Dif: -500 NS:-5 5DN6 420 50 3 + 964 Dif: 0 NS:9 3HS4 170 2.0 1
» KJ92 IMP: -11 EW:-7 3NS3 400 6.0 2 & A9753 IMP: 0 EW:-9 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7TNXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4NS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®IVAON 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW3 -600 Mean: 2SXN2 470 140 1 ||# 4 » 963 5DW5 -600 Mean: 6HW-3 300 13.0 1
v AQ 3NE5 -660 -550  3NW4 630 -20 8 v 7432 6DE-1 100 -520 6DE-1 100 120 1
732 Dif: 60 NS:-2 3NW3 600 -20 8 * K9 Dif: -700 NS:-2 5DW5 600 -20 6
& T8 IMP: 2 EW:3 3NE5 660 -3.0 1 & JT42 IMP: -12 EW:-12 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 & AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 3NE-150 Mean: 3NW-2 100 50 1 #6 & A952 3NN3 400 Mean: 3NS3 400 70 1
vT9 3NW-150 -110 3NE-2 100 50 1 v AK6 3NN-1-50 130  3NN4 430 7.0 1
+» KJ863 Dif: 0 NS:4 3NW-1 50 40 2 + Q86 Dif: 450 NS:7 3NN3 400 7.0 5
» K9 IMP: 0 EW:-4 3NE-1 50 40 4 » QT9 IMP: 10 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN-1 -100 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 940 Mean: 7DS7 1440 9.0 4
v AQ96532 4HN4 620 250  4HN5 650 9.0 1 v6 6DS7 940 1070 7DN7 1440 9.0 1
¢+ AK Dif: -720 NS:-8 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
9 IMP: -12 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 4SN5 450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 150 Mean: 3NN7 720 9.0 1
v A3 3NN4 430 440 5SS5 450 0.0 1 v AK93 3NN-1-100 350 3NS5 660 7.0 1
¢ 874 Dif: 20 NS:0 5SN5 450 00 1 + K Dif: 250 NS:-5 3NS4 630 7.0 1
» KJ96 IMP: 1 EW:0 4SS5 450 00 5 & AT9872 IMP: 6 EW:10 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 & 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 1 NS: FENER 8158 (BH0) 2 1 7 NS: 288t MIF#(BEAC) 7 VP:| 850 : 11.50| Total VP: 8.50 Rank:
EW: ShiEE ZEBEEAC) -7 EW: fiRE 5RE#(BAO) -2 IMP:| 11 15 10
_—
#1 a7 6DN6 920 Mean: 6DN6 920 7.0 8 |[#2 » K8 4HN4 620 Mean: 4HS4 620 9.0 4
v AKQJ 6CN6 920 630 6CN6 920 7.0 2 v AJ3 4HN4 620 250  4HN4 620 9.0 3
+ AJ63 Dif: 0 NS:7 5DN6 420 50 3 + 964 Dif: 0 NS:9 3HS4 170 2.0 1
» KJ92 IMP: 0 EW:-7 3NS3 400 6.0 2 & A9753 IMP: 0 EW:-9 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®IVAON 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 -630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NW3 -600 Mean: 6HW-3 300 13.0 1
v AQ 3NW4 -630 -550 3NW4 630 -20 8 v 7432 3NW3 -600 -520 6DE-1 100 120 1
732 Dif: 0 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: 0 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJB4 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 2SN-1-100 Mean: 3NW-2 100 50 1 #6 & A952 3NN-1-50 Mean: 3NS3 400 70 1
vT9 3NW-150 -110 3NE-2 100 50 1 v AK6 3NN-1-50 130  3NN4 430 7.0 1
+» KJ863 Dif: -150 NS:0 3NW-1 50 40 2 + Q86 Dif: 0 NS:-5 3NN3 400 7.0 5
» K9 IMP: -4 EW:-4 3NE-1 50 40 4 » QT9 IMP: 0 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN-1 -100 Mean: 4HS4 620 9.0 1 ||#38 aJ 6CN7 940 Mean: 7DS7 1440 9.0 4
v AQ96532 5HN-1-100 250  4HN5 650 9.0 1 v6 7DS7 1440 1070  7DN7 1440 9.0 1
¢+ AK Dif: 0 NS:-8 4HN4 620 9.0 6 + AQJ94 Dif: -500 NS:-4 6DS7 940 40 12
&9 IMP: 0 EW:8 3NS4 630 9.0 1 & AK6532 IMP: -11 EW:-9 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 4SN5 450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NS5 660 Mean: 3NN7 720 9.0 1
v A3 3NN4 430 440 5SS5 450 0.0 1 v AK93 2CN6 170 350 3NS5 660 7.0 1
¢ 874 Dif: 20 NS:0 5SN5 450 00 1 + K Dif: 490 NS:7 3NS4 630 7.0 1
» KJ96 IMP: 1 EW:0 4SS5 450 00 5 & AT9872 IMP: 10 EW:5 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 2 NS: ¥izkz BREEIEEAC) -43 2 NS: BRE<F SLZX(BAO) 66| VP:| 0.00 : 20.00| Total VP: 0.00 Rank:
EW: EEH BABEIO) -66 EW: [R#R BR#I<F(BAC) 43 IMP:| 4 93 18
_—
#1 a7 6DN6 -920 Mean: 6DN6 920 70 8 [|#2 » K8 2HS4 170 Mean: 4HS4 620 9.0 4
v AKQJ 4NS-150 630 6CN6 920 7.0 2 v AJ3 4HS-1100 250  4HN4 620 9.0 3
+ AJ63 Dif: -970 NS:-12 5DN6 420 50 3 + 964 Dif: -270 NS:-8 3HS4 170 2.0 1
» KJ92 IMP: -14 EW:-7 3NS3 400 6.0 2 & A9753 IMP: -7 EW:2 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 2SXN2 -470 Mean: 2SXN2 470 140 1 ||# 4 » 963 6HW-3 -300 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 600 -550 3NW4 630 -20 8 v 7432 5DW5 600 -520 6DE-1 100 120 1
732 Dif: -1070 NS:-2 3NW3 600 -20 8 * K9 Dif: -900 NS:-2 5DW5 600 -20 6
& T8 IMP: -14 EW:-14 3NE5 660 -3.0 1 & JT42 IMP: -14 EW:-13 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 % ¢ VAN 4, AQBT2
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55~~3
#5 4 AT83 3NE-1-50 Mean: 3NW-2 100 50 1||#6 & A952 3NN3 -400 Mean: 3NS3 400 70 1
vT9 3NE3 400 -110  3NE-2 100 50 1 v AK6 3NN-150 130 3NN4 430 7.0 1
+» KJ863 Dif: -450 NS:-7 3NW-1 50 40 2 + Q86 Dif: -450 NS:-5 3NN3 400 7.0 5
» K9 IMP: -10 EW:-4 3NE-1 50 40 4 » QT9 IMP: -10 EW:-7 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 -620 Mean: 4HS4 620 9.0 1 ||#38 aJ 7DS7 -1440 Mean: 7DS7 1440 9.0 4
v AQ96532 5HN-2 200 250  4HN5 650 9.0 1 v6 6DS7 -940 1070  7DN7 1440 9.0 1
¢+ AK Dif: -820 NS:-10 4HN4 620 9.0 6 + AQJ94 Dif: -500 NS:-4 6DS7 940 40 12
&9 IMP: -13 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: -11 EW:-9 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 5DS5 -400 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NS3 -600 Mean: 3NN7 720 9.0 1
v A3 4SS5 -450 440  5S8S5 450 0.0 1 v AK93 3NN5-660 350 3NS5 660 7.0 1
¢ 874 Dif: 50 NS:0 5SN5 450 00 1 + K Dif: 60 NS:7 3NS4 630 7.0 1
» KJ96 IMP: 2 EW:1 4SS5 450 00 5 & AT9872 IMP: 2 EW:-6 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 3 NS: #F{- )8 B fEEAC) 19 10 NS: 8%k Z#EI5(BAO) -6 VP:| 15.05 : 4.95 Total VP: 15.05 Rank:
EW: fSE2{G B EEHO) 6 EW: #B{E32 ZBEHR(BAC) 1 IMP:| 35 19 4
I _—
#1 a7 5DN6 -420 Mean: 6DN6 920 70 8 [|#2 » K8 4HS4 -620 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 -920 630  6CN6 920 7.0 2 v AJ3 4HS4 -620 250  4HN4 620 9.0 3
+ AJ63 Dif: 500 NS:7 5DN6 420 50 3 + 964 Dif: 0 NS:9 3HS4 170 2.0 1
» KJ92 IMP: 11 EW:5 3NS3 400 6.0 2 & A9753 IMP: 0 EW:-9 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7TNXS-1 100 -12.0 1 ||w 942 I v T5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW3 600 Mean: 2SXN2 470 140 1 ||# 4 » 963 5DW5 600 Mean: 6HW-3 300 13.0 1
v AQ 3NE5 660 -550  3NW4 630 -20 8 v 7432 6DE-1-100 -520 6DE-1 100 120 1
732 Dif: -60 NS:-3 3NW3 600 -20 8 * K9 Dif: 700 NS:12 5DW5 600 -20 6
& T8 IMP: -2 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 12 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 & AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 3NE-1-50 Mean: 3NW-2 100 50 1||#6 & A952 3NN3 -400 Mean: 3NS3 400 70 1
vT9 3NW-1-50 -110 3NE-2 100 50 1 v AK6 3NN-150 130 3NN4 430 7.0 1
+» KJ863 Dif: 0 NS:4 3NW-1 50 40 2 + Q86 Dif: -450 NS:-5 3NN3 400 7.0 5
» K9 IMP: 0 EW:-4 3NE-1 50 40 4 » QT9 IMP: -10 EW:-7 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN-1 100 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 -940 Mean: 7DS7 1440 9.0 4
v AQ96532 4HN4 -620 250  4HN5 650 9.0 1 v6 6DS7 -940 1070  7DN7 1440 9.0 1
¢+ AK Dif: 720 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
&9 IMP: 12 EW:8 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 4SN5 -450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 -150 Mean: 3NN7 720 9.0 1
v A3 3NN4 -430 440 5SS5 450 0.0 1 v AK93 3NN-1100 350 3NS5 660 7.0 1
¢ 874 Dif: -20 NS:0 5SN5 450 00 1 + K Dif: -250 NS:-10 3NS4 630 7.0 1
» KJ96 IMP: -1 EW:0 4SS5 450 00 5 & AT9872 IMP: -6 EW:5 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 4 NS: Fis/E BRECMFEO) -7 16 NS: REIE €55 (BAC) -21 VP:| 13.14 : 6.86 Total VP: 13.14 Rank:
EW: £Z25# H#HfER(EAC) 21 EW: Rl BRY¢(FO) 7 IMP:| 27 18 6
- _—
#1 a7 3SXE-2 300 Mean: 6DN6 920 7.0 8 |[#2 » K8 3HS3 140 Mean: 4HS4 620 9.0 4
v AKQJ 5DN6 420 630  6CN6 920 7.0 2 v AJ3 PO 250 4HN4 620 9.0 3
+ AJ63 Dif: -120 NS:-8 5DN6 420 50 3 + 964 Dif: 140 NS:-3 3HS4 170 2.0 1
» KJ92 IMP: -3 EW:5 3NS3 400 6.0 2 & A9753 IMP: 4 EW:6 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 60 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665 ~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW3 -600 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NE7 -720 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 -600 -550 3NW4 630 -20 8 v 7432 5DW5 -600 -520  6DE-1 100 120 1
732 Dif: 0 NS:-2 3NW3 600 -20 8 * K9 Dif: -120 NS:-5 5DW5 600 -20 6
& T8 IMP: 0 EW:2 3NE5 660 -3.0 1 & JT42 IMP: -3 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 % ¢ VAN 4, AQBT2
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJB4 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55~~3
#5 4 AT83 1NE3 -150 Mean: 3NW-2 100 50 1 #6 & A952 2NN3 150 Mean: 3NS3 400 70 1
vT9 3NE-150 -110  3NE-2 100 50 1 v AK6 3NN4 430 130  3NN4 430 7.0 1
+» KJ863 Dif: -200 NS:-1  3NW-1 50 40 2 + Q86 Dif: -280 NS:1  3NN3 400 7.0 5
» K9 IMP: -5 EW:-4 3NE-1 50 40 4 » QT9 IMP: -7 EW:-7 2NN3 150 1.0 1
s KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
® A2 ~ JT864 1NE2 120 00 1 ||a K643 ~ AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN5 650 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 940 Mean: 7DS7 1440 9.0 4
v AQ96532 4HN-1-100 250  4HN5 650 9.0 1 v6 6DS7 940 1070 7DN7 1440 9.0 1
¢+ AK Dif: 750 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
&9 IMP: 13 EW:8 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 4SS5 450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NN3 600 Mean: 3NN7 720 9.0 1
v A3 4SN5450 440 5SS5 450 0.0 1 v AK93 1HN3 140 350 3NS5 660 7.0 1
¢ 874 Dif: 0 NS:0 5SN5 450 00 1 + K Dif: 460 NS:6 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: 10 EW:5 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 5 NS: BREEE #T-HEEAC) 10 8 NS: R E#E 5Ri&E(BO) -1 VP:| 14.54 : 5.46 Total VP: 14.54 Rank:
EW: 20 X348 #FEE/E(BHO) 10 EW: MK £LRZ(BAC) 1 IMP:| 35 21 5
_—
#1 a7 6DN6 -920 Mean: 6DN6 920 70 8 [|#2 » K8 3NN-1 100 Mean: 4HS4 620 9.0 4
v AKQJ 6DN6 -920 630  6CN6 920 7.0 2 v AJ3 4HS4 -620 250  4HN4 620 9.0 3
+ AJ63 Dif: 0 NS:7 5DN6 420 50 3 + 964 Dif: 720 NS:9 3HS4 170 2.0 1
» KJ92 IMP: 0 EW:-7 3NS3 400 6.0 2 & A9753 IMP: 12 EW:8 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 630 Mean: 2SXN2 470 140 1 ||# 4 » 963 5DW5 600 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 600 -550 3NW4 630 -20 8 v 7432 3NW3 600 -520 6DE-1 100 120 1
732 Dif: 30 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: 1 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 3NW-2 -100 Mean: 3NW-2 100 50 1||#6 & A952 3NN3 -400 Mean: 3NS3 400 70 1
vT9 3NW3 400 -110 3NE-2 100 50 1 v AK6 3NN-150 130 3NN4 430 7.0 1
+» KJ863 Dif: -500 NS:-7 3NW-1 50 40 2 + Q86 Dif: -450 NS:-5 3NN3 400 7.0 5
» K9 IMP: -11 EW:-5 3NE-1 50 40 4 » QT9 IMP: -10 EW:-7 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN-1 100 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 -940 Mean: 7DS7 1440 9.0 4
v AQ96532 4HN-1100 250  4HN5 650 9.0 1 v6 7DS7 -1440 1070  7DN7 1440 9.0 1
¢+ AK Dif: 0 NS:-8 4HN4 620 9.0 6 + AQJ94 Dif: 500 NS:9 6DS7 940 40 12
&9 IMP: 0 EW:8 3NS4 630 9.0 1 & AK6532 IMP: 11 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 5SN5 -450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 -150 Mean: 3NN7 720 9.0 1
v A3 4SS5 -450 440  5SS5 450 0.0 1 v AK93 3NN7 -720 350 3NS5 660 7.0 1
¢ 874 Dif: 0 NS:0 5SN5 450 00 1 + K Dif: 570 NS:9 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: 11 EW:5 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 6 NS: BE®E &858 EC) -21 14 NS: Bz PBRE\(BRO) -7 VP:| 6.86 : 13.14| Total VP: 6.86 Rank:
EW: BEEGHE BEYR(RE0) 7 EW: =5 MiER(BAC) 21 IMP:| 18 27 13
I _—
#1 a7 3SXE-2 -300 Mean: 6DN6 920 70 8 [|#2 » K8 3HS3 -140 Mean: 4HS4 620 9.0 4
v AKQJ 5DN6 -420 630  6CN6 920 7.0 2 v AJ3 PO 250 4HN4 620 9.0 3
+ AJ63 Dif: 120 NS:-5 5DN6 420 50 3 + 964 Dif: -140 NS:-6 3HS4 170 2.0 1
» KJ92 IMP: 3 EW:8 3NS3 400 6.0 2 & A9753 IMP: -4 EW:3 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7NXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4ANS-1 50 120 1 ||e AJ3 + KQT85 P 0 60 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665 ~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW3 600 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NE7 720 Mean: 6HW-3 300 13.0 1
v AQ 3NW3 600 -550 3NW4 630 -20 8 v 7432 5DW5 600 -520 6DE-1 100 120 1
732 Dif: 0 NS:-2 3NW3 600 -20 8 * K9 Dif: 120 NS:-2 5DW5 600 -20 6
& T8 IMP: 0 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 3 EW:5 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 a AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 % ¢ VAN 4, AQBT2
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55~~3
#5 4 AT83 1NE3 150 Mean: 3NW-2 100 50 1||#6 & A952 2NN3 -150 Mean: 3NS3 400 70 1
vT9 3NE-1-50 -110  3NE-2 100 50 1 v AK6 3NN4 -430 130  3NN4 430 7.0 1
+» KJ863 Dif: 200 NS:4 3NW-1 50 40 2 + Q86 Dif: 280 NS:7 3NN3 400 7.0 5
» K9 IMP: 5 EW:1 3NE-1 50 40 4 » QT9 IMP: 7 EW:-1  2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN5 -650 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 -940 Mean: 7DS7 1440 9.0 4
v AQ96532 4HN-1100 250  4HN5 650 9.0 1 v6 6DS7 -940 1070  7DN7 1440 9.0 1
¢+ AK Dif: -750 NS:-8 4HN4 620 9.0 6 + AQJ94 Dif: 0 NS:-4 6DS7 940 40 12
&9 IMP: -13 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: 0 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 4SS5 -450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NN3 -600 Mean: 3NN7 720 9.0 1
v A3 4SN5 -450 440  5SS5 450 0.0 1 v AK93 1HN3 -140 350 3NS5 660 7.0 1
¢ 874 Dif: 0 NS:0 5SN5 450 00 1 + K Dif: -460 NS:-5 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: -10 EW:-6 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 7 NS: 8835 MREFHEIC) 7 1 1 NS: #liEF] 21812(F80) 2 VP:| 11.50 : 8.50 Total VP: 11.50 Rank:
EW: f 5= 8 5REHA(BEO) -2 EW: 38388 EUR(FIC) -7 IMP:| 15 11 8
_—
#1 a7 6DN6 -920 Mean: 6DN6 920 70 8 [|#2 » K8 4HN4 -620 Mean: 4HS4 620 9.0 4
v AKQJ 6CN6 -920 630  6CN6 920 7.0 2 v AJ3 4HN4 -620 250  4HN4 620 9.0 3
+ AJ63 Dif: 0 NS:7 5DN6 420 50 3 + 964 Dif: 0 NS:9 3HS4 170 2.0 1
» KJ92 IMP: 0 EW:-7 3NS3 400 6.0 2 & A9753 IMP: 0 EW:-9 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7TNXS-1 100 -12.0 1 ||w 942 I v T5 28S3 140 3.0 1
¢ 42 ¢ T75 4NS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®dIVABN 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW4 630 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NW3 600 Mean: 6HW-3 300 13.0 1
v AQ 3NW4 630 -550 3NW4 630 -20 8 v 7432 3NW3 600 -520 6DE-1 100 120 1
732 Dif: 0 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: 0 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 & AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S§ ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 2SN-1100 Mean: 3NW-2 100 50 1||#6 & A952 3NN-1 50 Mean: 3NS3 400 70 1
vT9 3NW-1-50 -110 3NE-2 100 50 1 v AK6 3NN-150 130 3NN4 430 7.0 1
+» KJ863 Dif: 150 NS:4  3NW-1 50 40 2 + Q86 Dif: 0 NS:-5 3NN3 400 7.0 5
» K9 IMP: 4 EW:0 3NE-1 50 40 4 » QT9 IMP: 0 EW:5 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN-1 100 Mean: 4HS4 620 9.0 1 ||#38 aJ 6CN7 -940 Mean: 7DS7 1440 9.0 4
v AQ96532 5HN-1 100 250  4HN5 650 9.0 1 v6 7DS7 -1440 1070  7DN7 1440 9.0 1
¢+ AK Dif: 0 NS:-8 4HN4 620 9.0 6 + AQJ94 Dif: 500 NS:9 6DS7 940 40 12
9 IMP: 0 EW:8 3NS4 630 9.0 1 & AK6532 IMP: 11 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 4SN5 -450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 3NS5 -660 Mean: 3NN7 720 9.0 1
v A3 3NN4 -430 440 5SS5 450 0.0 1 v AK93 2CN6 -170 350 3NS5 660 7.0 1
¢ 874 Dif: -20 NS:0 5SN5 450 00 1 + K Dif: -490 NS:-5 3NS4 630 7.0 1
» KJ96 IMP: -1 EW:0 4SS5 450 00 5 & AT9872 IMP: -10 EW:-7 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||w J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




¥ ——
1 113 F=F >RBEHRF IR E == Rl 1
e e
#1: 2 ELEL(20) #2: 4 fEH (16.78) #3: 9 Woods(16 78)
1 8 NS: %5 BEBAAIEAC) 4 7 NS: E{&{& 81154 (F0) -5 VP:| 11.85 : 8.15 | Total VP: 11.85 Rank:
EW: R854 o[ ZE(BFO) 5 EW: BRMSE £HEX(BAC) -4 IMP:| 22 17 7
I I
#1 a7 5DN6 -420 Mean: 6DN6 920 70 8 [|#2 » K8 5HS-1 100 Mean: 4HS4 620 9.0 4
v AKQJ 3NS3 -400 630 6CN6 920 7.0 2 v AJ3 4SXS-1200 250 4HN4 620 9.0 3
+ AJ63 Dif: -20 NS:-6 5DN6 420 50 3 + 964 Dif: -100 NS:-10 3HS4 170 2.0 1
» KJ92 IMP: -1 EW:5 3NS3 400 6.0 2 & A9753 IMP: -3 EW:8 2HS4 170 2.0 1
s JT84 » KQ9653 3SXE-2 300 -80 1 ||a QJ92 s 43 3HS3 140 3.0 2
v T852 v 76 7TNXS-1 100 -12.0 1 ||w 942 I vT5 28S3 140 3.0 1
¢ 42 ¢ T75 4NS-1 50 120 1 ||e AJ3 + KQT85 P 0 6.0 1
& 875 » AT » J82 » KQT6 5HS-1 100 -8.0 2
®IVAON 4 A2 %o ¢ VAN 4 AT765 4HS-1 -100 -8.0 1
N 665~3 v943 N ~~ 432 v KQ876 3NN-1 100 -8.0 1
S 665~3 ¢ KQ98 S ~~432 72 4SXS-1 200 -10.0 1
E ~~~~~ & Q643 E1~~~~ a4
W ~~~~~ W 1~~~~
#3 o KT8432 3NW3 600 Mean: 2SXN2 470 140 1 ||# 4 » 963 3NW3 600 Mean: 6HW-3 300 13.0 1
v AQ 3NW4 630 -550 3NW4 630 -20 8 v 7432 5DW5 600 -520 6DE-1 100 120 1
732 Dif: -30 NS:-2 3NW3 600 -20 8 * K9 Dif: 0 NS:-2 5DW5 600 -20 6
& T8 IMP: -1 EW:2 3NE5 660 -3.0 1 & JT42 IMP: 0 EW:2 3NW3 600 20 5
& A75 ~ Q9 ~ K5 a JT4 3NE3 600 20 2
v K63 v T75 v KQJ9 + v A5 3NW5 660 -40 1
+ KT6 + A95 ¢ AT8754 ¢ QJ 3NW6 690 -5.0 1
& KQ92 & AJ754 » KQ8653 3NE7 720 5.0 1
B¢ VABN ,J6 %o VAN 4, AQB72
N ~~~~~ v J9842 N ~~~~~ v T86
S ~~~~~ + QJ84 S ~~~~~ ¢ 632
E 4~~~3 463 E 55~~3 &97
W4~~~3 W 55 ~~3
#5 4 AT83 3NE-2 -100 Mean: 3NW-2 100 50 1 #6 & A952 3NS3 -400 Mean: 3NS3 400 70 1
vT9 3NE-1-50 -110  3NE-2 100 50 1 v AK6 3NN-150 130 3NN4 430 7.0 1
+» KJ863 Dif: -50 NS:4 3NW-1 50 40 2 + Q86 Dif: -450 NS:-5 3NN3 400 7.0 5
» K9 IMP: -2 EW:-5 3NE-1 50 40 4 » QT9 IMP: -10 EW:-7 2NN3 150 1.0 1
KJ4 4 Q7 1NE1 90 1.0 1 ||s Q64 ~ T83 3NN-1 50 5.0 9
v KJ763 v A2 2SN-1 4100 00 1 ||vQJ — v T432 3NN-2 100 -6.0 1
* Q42 ¢ AT75 1SN-1 100 00 1 ||e J973 ¢ T54
A2 & JT864 1NE2 120 0.0 1 » K643 » AJ7
% ¢ VAN 49652 1NE3 4150 1.0 1 POV ABN , KI7
N ~~~~~ v 0854 3NW3 -400 -7.0 1 N ~~222 ¢9875
S ~~~~~ 3NE3 400 70 4 ([S ~~222 ¢ AK2
E 233~3 G-Q753 E ~~n~~~ % 852
W 333~3 W ~~~~~
#7 » J97 4HN4 -620 Mean: 4HS4 620 9.0 1 ||#38 aJ 6DS7 -940 Mean: 7DS7 1440 9.0 4
v AQ96532 4HN4 -620 250  4HN5 650 9.0 1 v6 7DS7 -1440 1070  7DN7 1440 9.0 1
¢+ AK Dif: 0 NS:9 4HN4 620 9.0 6 + AQJ94 Dif: 500 NS:9 6DS7 940 40 12
9 IMP: 0 EW:-9 3NS4 630 9.0 1 & AK6532 IMP: 11 EW:4 6CN7 940 40 1
» AQ865 a T2 5HN-1 100 -80 1 ||aT7 » K9642
v 87 + T 4HN-1 <100 8.0 6 ||v KJT97542 v Q3
¢ 76 ¢ QT9842 5HN-2 -200 -10.0 2 ||e ¢ T752
& T752 S » AQ83 » 984 a J7
Fo ¢ VAN o,K43 %o VAN 4, AQS53
N ~~3~4 vKJH N 67~~7 A8
S ~~3~4 ¢J53 S 77 ~~T7 ¢ K863
E ~~~~~ & KJ64 E ~~1~~ aQT
W ~~~~~ W ~~1~~
#9 4 AQ82 4SN5 -450 Mean: 3NN5 460 1.0 2 ||# 10 s A4 2CN5 -150 Mean: 3NN7 720 9.0 1
v A3 4SS5 -450 440  5SS5 450 0.0 1 v AK93 3NN5-660 350 3NS5 660 7.0 1
¢ 874 Dif: 0 NS:0 5SN5 450 00 1 + K Dif: 510 NS:7 3NS4 630 7.0 1
» KJ96 IMP: 0 EW:0 4SS5 450 00 5 & AT9872 IMP: 11 EW:5 3NN5 660 7.0 3
6 & K54 4SN5 450 0.0 6 || KQ97 ~ T83 3NS3 600 6.0 2
v J98654 v QT2 3NN4 430 00 2 ||v J875 + v T42 3NN3 600 6.0 1
¢ JT9 ¢ A5 5DS5 400 1.0 1 ||e AT7 + 9632 2CN6 170 5.0 1
& T4 » 87532 » J4 » Q65 2CN5 150 50 4
¢ VAN ,J973 oV AN 4 J652 1HN3 140 5.0 1
N ~5~55 ¢K7 N 4~~~3 v Q6 3NS-1 100 -100 2
S ~4 ~55 ¢ KQ632 S 4~~~3 ¢QJ854 3NN-1 100 -10.0 1
E ~~~~~ & AQ E ~~~~~ » K3
W ~~~~~ W ~~~~~




